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Math 1024, 8 Quiz # 3 R S A G

Solve three problem only

1. (5- Poinis) Use cylindrical shells to set up an integral which represents the
volume of the solid generated by revolving the area enclosed by the graphs of

y=5x—x" and y = x about the vertical line x = —-3.
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2. (5- Points) Find the exact arc length of the parametric curve
k1 3t
= 21, y= 2t, 0<t<7/4.
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3. (5- Points) find the area of the surface generated by revolving the curve

y=v16~x*, —2<x<2 about the x — axis.
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(b) Evaluate Eﬂ 9ccns h%dx. [write your answer in simplest form]
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Solve three problem only

1. (5- Points) Use cylindrical shells to set up an integral which represents the
volume of the solid generated by revolving the area enclosed by the graphs of

y=3x-x" and y = x about the vertical line x = —5.
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2. (S- Points) Find the exact arc length of the parametric curve
= e” cos3t, y—e”sinBt 0<t< /6.

A=) (G e

gt 2t

g

A ; L qe (os g(— {2¢ (953{_(‘3;4’42
(if) (Ze o3t - 3€ Sm3) ( _f_qeﬁ. S;mlgb)
2t X3 gt .
(')_e sym3E +3€ CoS?E) Ye §1m3{7+]26 S,zn!i‘ cos?
( -+ o,e Cas 3[—)

Ty
/4

v %
L = J%Waze: \/Ef)zezeo“' = J_;E[ef]

o




e 3. (5- Points) find the area of the surface generated by revolving the curve

=+/4-x", -1 <x <1 about the x - axis.
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{b) Evaluate E‘ cosh %dx [write your answer in simplest form]
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